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Seat No. Enrolment No.:

Gujarat Technological University
Diploma Engineering C to D Bridge Course Examination

Subject Code: C320002 Date: 02 -01 -2017
Subject Name: Advance mathematics (group-1)

Time: 02:30 PM TO 04:00 PM Total Marks: 70
Instructions:

Attempt all questions.

Make suitable assumption wherever necessary,

Each question is of 1 mark.
Use of SIMPLE CALCULATOR is permissible, (Scientific/Higher Version not allowed)

English version is authentic.

AT b

No. Question Text and Option. Y3 el (Ascul

If zis complex numberz + z =

1. A 1 B. 2Re(z)
C. -1 D. 2Im(z)
ol z AsAvAM A A z +z =

LA 1 B. 2Re(z)
C. -1 D. 2Im(z)
If zis complex number z-7Z =

2. A. Real number B. i
C. Imaginary number D.  Not possible
ol z s AvaAL A Al z-7 =

s A allds dvel B. ;
C. siculls dvau D asaall
i19 —

3. A0 B. i
C. -1 D. —i
i19 —

3. A0 B. i
C. -1 D. —i
Ifzy=1—-2i,z, =1+ 2ithenz; + 7, =

4. A 2 B. -1
C. 1 D. 2
Rz, =1—2i,2z,=1+2icdl z; ¥z =

¥. A 22 B. -1
C. 1 D. 2
1+i+i2+i%=

5. A1 B. -1
C. 0 D. i
1+i+i2+i3=

LV | B. -l
C. 0 D. i
z = —5ithen |Z| =

6. A -5 B. 5
C. —i D. i
z=—5icl|z] =

S. A -5 B. 5
C. —i D. i

7. Ifz,=20,2z,=2—ithen |z, 2z,| =
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10.

0.

11.

9.

12.

2.

13.

3.

14.

1Y%.

15.

.

A 8

C. 20
°a.zl=2i,zz=2—i<'n[zl-zzl=
A 8

C. 20

If 217 =3—2i, z; = —ithenz, - z; =
A 3i—2

C. 3i+2
°azl=3—2i,zz=—i<‘nzl- Zy =
A. 3i—2

C. 3i+2

If 21 -7, =0 then

A. Z1=00r2z;=0

C. Zy =1,2y = —i
°a.zl-zz=0<'n

A Z1=00rz; =0

C. Z7=00rz;=0

(cos@ + isinf)™3 =

A. cos36 + isin36
C. —c0s30 — isin36
(cos@ + isinf)™3 =

A. cos36 + isin36
C. cos30 — isin36
If z=ithenIm(z) =
A1

C. 0

olz=icl Im(z) =

A 1

C. 0

Zz=1+4+1ithent =

A, T

C. /2
z=1+icl 9=

A, T

C. ”/2

If z=—4then Im(z) =

A, 0

C. 4

oflz=—4dl Im(z) =

A 0

C. 4

If z=5+3ithenz =

A. 5+ 3i

C. —5—3i
z=5+3idl 7=

A. 54+ 3i

C. -5 —3i

If f(x)=3x3—2x+1then f(1) =
A 0

C. 1

ol f(x)=3x3—2x+1clf(1) =

>

0
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B.
D.
B.
D.

B.
D.

B.

-20
-8
-20
-8
—3i—2
—3i+2
—3i—2
—3i+2
7z #0,7z #0
None
Z1#0,z, # 0
As uel o3
0538 + isin(—36)
c0530 — isin30
0538 + isin(—36)
—c0538 — isin360
-1
i
-1
i
—T
/4
-1
/4
4
None
4
A5 wel o3,
—5+ 3i
5—3i
—5+ 3i
5—-3i
3
2
|
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16.

16.

17.

9.

18.

c.

19.

c.

20.

R0.

21.

1.

22.

2.

23.

cC. 2 D.
If f(x) =x*,9(x) = x then fog(1) =
A1 B.
C. 4 D.
B fx) =22, () =xll fog(1) =
A1 B.
C. 4 D.
If f(x) = sinx + cosx then f(”/z) =
A. 0 B.
cC. 1 D.
%\ f(x) = sinx + cosx «ll f(™/,) =
A0 B.
C. 1 D.
If ) =e* A flx+y) =
A. fe)—fOn B.
C. f&)+ ) D.
B fG) =e* dl flx+y) =
A. f)—f) B.
C. fG)+f) D.
If f(x) = x? then f(sinx) + f(cosx) =
A. sin?x B.
C. 0 D.
‘af(x) =x2dl f(sinx) + f(cosx) =
sin’x B.
C 0 D.
If f(x)=(x+1)Ythen f(1) =
A1 B.
cC. 2 D.
Al fx) = (x+ 1)1l f(1) =
A1 B.
cC. 2 D.
Coxt+2x—1
s x—1
A 5 B.
Cc. 7 D.
o ox?+2x—1
chl_rg x—1
A. 5 B.
Cc. 7 D.
I x“—2x+1
] x—1
A1 B.
C. -1 D.
o x*—2x+1
lim
=1 x—1
A1 B.
C. -1 D.
2x+1
li
x=-1x+ 2
A, 0 B.
cC. -1 D.
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-1
4

-1
4

-1
None

-1

s uel o3,

o0

o0

O

g —

f&)-fo)
f/f»)

f&x)-f
fC/f)

cos%x

COS™X

3/11



http://www.gujaratstudy.com

?3.

Y.

25.

U

26.

RS,

27.

9.

28.

RC.

29.

Q€.

30.

2x+1
im =

x--1x+ 2
A0
C. -1
. 8x2—3x+1
fodx? + 5% —1
A 2
C. 0
. 8x2—3x+1
Rt 4x2 4+ 5x —1
A 2
C. 0

X
eI
A. 5

C. 2

lim —— —
L ]
A. 5

CcC. 2

o e¥+xcosx—1
lim =
x—0 X

A O
C. -1

o e¥+xcosx—1
lim =
x—0 X

A0
C. -1
sin9x

lim =
x—=0 X

A. COSX
C. sinx

. Sin9x
lim =
x—0 X

A. COSX
C. sinx
52x _ 1

lim =
x-0 X

A. log 25
C. 25
52 —1

lim =
x-0 X

A. log 25
C. 25
3 X
lim (1 + —) =
X300 2x
A. e3
C. 63/2
3 X
lim (1 + —) =
X300 2x
A. e3
C. 33/2
. x l/x
lim (1 + E) =

X—00
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30.

31.

34.

32.

3.

33.

33.

34.

3%.

35.

3u.

36.

36.

37.

39.

38.

3¢.

A el B. e?
C. 63 D. e_z
x\ 1/x

lim (1+3) =
A. el B. e’
C. e’ D. e 2
If f(x)=x?then f'(2) =
A1 B. 2
C. 3 D. 4
A fx) =x*dl f'(2) =
A1 B. 2
C. 3 D. 4
If f(x) =e** then f'(x) =

2e%* B. 2e*
C 4g2% D. 4eX*
'ﬂ fe) =e>dl f'(x) =

2e%* B. 2e*
C 4e2x D. 4e*
If f(x)=¢€* +10g5 then f'(x) =
A. e*+1/5 B. e*
C. e*—1 D. e*+1
‘ﬁf(x)—e +10g5 cﬂf(x)

e* + 1/5 B. e*

C e*—1 D. e*+1
If x = ksin@ ,y = kcosO,where k is constant then dy/dx =
A. cotl B. —cotl
C. —tan@ D. tan@
%\ x = rsind , ¥ = rcosf , ¥k AUAUA 8 dl dy/dx =
A. cotf B. —cotf
C. —tan@ D. tan@
If y=x+4+5theny, =
A5 B. 1
c. -2 D. 0
‘ﬁy =x+5 ('-ﬂyz =
A. 5 B. 1
c. -2 D. 0
If x+y=>5then dy/dx =
A. 5—x B. 5
cC. 0 D. -1
‘ﬁx+y=5 dl dy/dx =
A. 5—x B. 5
C. 0 D. -1
If y=e*theny, =
A. e*+9 B. %9
C. e*—9 D. e*
ﬂy — g¥+9 (.n Y, =
A. e*+9 B. e**?
C. e*—9 D. e*
If y = sin(cos(e)) then dy/dx =
A 0 B.  -cos(cos(e))
C. cos(cos(e)) D. sin(cos(e))
If y = sin(cos(e)) then dy/dx =
A0 B. -cos(cos(e))
C. cos(cos(e)) D. sin(cos(e))
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39.

3c.

40.

¥0.

41.

¥1.

42

¥R.

43.

¥3.

¥Y.

45.

(o) -
dx \x~1)
A. 1 B.

X2
C. 1 D. 1

X2
() -
dx\x~1)
A. 1 B.

X2
C. 1 D. 1

x—2
d 1 2y —
—(logx?) =
A. 1 B.

x2
C. 1 D.

X
d 1 2y —
—(logx?) =
A. 1 B.

x2
C. Z D.

X
Maximum value of the f(x) = x is
A1 B. -1
C. 0 D. Not possible
) = x ol HewH (BUct =
A1 B. -l
Manimum value of the f(x) = x> + x is
A, -100 B. 0
C. 5 D. 1
f(x) = x% + x ofl oot B =
A, -100 B. 0
C. 5 D. 1
For f'(t)=0,f"(t) <O0thenatx =t f(x)is
A0 B. Maximum
C. Minimum D. Not possible
Fi@)=0,f"() <OHR, clx =t WA f(x)
A0 B aern
C. oyotcnt D. szl otafl
For f'(t)=0,f"(t) =0thenatx =t f(x)is
A.  Maximum & Minimum B.  Maximum
C. Neither Maximum nor D. Minimum

Minimum
Fr)=0,Ff"(t)=0H2 cdlx =t WA f(x)
A YsTH Ul ool B. ysdu
C. deruud oot il As D o3yetdn
uel o

Iffx)=x>4+x—1then f'(5) =
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U,

46.

¥5.

47.

¥9.

48.

¥C.

49.

¥C.

50.

Yo.

51.

uq.

52.

A 11 B. 26
C. 30 D. 35
A fx)=x>+x—1cl f'(5) =
A 11 B. 26
C. 30 D. 35
Equation of motion is S(t) = 2t3 + 3t2 — 12t + 5 then velocity at t = 2 secis
A, 18 B. 20
cC. 22 D. 24
oldlya S(e) = 263 +3t2 — 12t +5 gl cdl £ = 2412 Aol =
A, 18 B. 20
Cc. 22 D. 24
Equation of motionis S(t) = t?> —4tthenv=0att =
A 2 B. 4
C. 3 D. 0
odlyat s =2 — 4t cdlv=0RUR ¢t =
A 2 B. 4
C. 3 D. 0
Equation of motion is S(t) = —5t3 + 15t + 3 then at t = 2 acceleration a =
A -5 B. -15
C. -30 D. -33
ollya s(t) = —5¢% + 156+ 3 Slatdl ¢ = 2 2 ydola =
A -5 B. -15
cC. -30 D. -33
fsin(Zx) dx =
A. cos(2x) + ¢ B. (—cos(2x)/2)+ ¢
C. (— cosec(2x)/2) + ¢ D. —cosec(2x) +c
fsin(Zx) dx =
A. cos(2x) + ¢ B. (—cos(2x)/2) + ¢
C. (— cosec(2x)/2) + ¢ D. —cosec(2x) +¢
f 2x sin(x?) dx =
A —cos(x?) + ¢ B. —sec(x?) +¢
C —cosec(x?) +¢ D. —cot(x?) + ¢
f 2x sin(x?) dx =
A. —cos(x?) + ¢ B. —sec(x?) + ¢
C —cosec(x?) +¢ D. —cot(x?) + ¢
f3xdx =
A 3 + B. 3*
log3 ¢ log3* e
C. 3 N D. 3*
log3* ¢ log3 T
f3xdx =
A. 3 + B. 3*
log3 ¢ log3* e
C. 3 N D. 3*
log3* ¢ log3 T
f sin(logx)
——dx =
X
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A. —cos(logx?) + ¢ B.
C. —cosx - logx + ¢ D.
f Sln(logx)
X
4R A. —cos(logxz) +c B.
C. —cosx-logx + ¢ D.
fxz 4 -
A. 1 xX—a B.
53. Zlog | +c
C. 1 X + a D.
- og | +c
2
fxz 4
A. 1 xX—a B.
u3. —lo +c
4 & X+ a|
C. 1 x+a D.
- og | +c
2
ftanx dx =
>4. A log|sinx| + ¢ B.
C log|cotx| + ¢ D.
ftanx dx =
vy, A. log|sinx| + ¢ B.
C log|cotx| + ¢ D.
fx3dx =
A 3 B.
55. % n
C. x* D.
y +c
fx3dx =
A. x3 B.
yy. ? +c
C. x* D.
T +c
V4 4
f sinx - cosxdx =
56. 3
A1 B.
cC. -1 D.
2w
f sinx - cosxdx =
us. 4
A 1 B.
C. -1 D.
/s
f log(tanx) dx =
57. ,
A 0 B.
C. 4 D.
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O

2 o

— 2

—cos(logx) + ¢

—cos x?

-logx + ¢

—cos(logx) + ¢

—cosx?

L
108
L
7 08

L
3 08
L
26

-logx + ¢

x+a

xX—a
xX—a

x+a

xX+a

xX—a
xX—a

xX+a

log|cosx| + ¢
loglsecx| + ¢

loglcosx| + ¢
loglsecx| + ¢
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T
/2

f log(tanx) dx =
"0

LR
A0 B.
C. 4 D. 1
(logx)®
58 § )
o1
A. 1/, B. 1/3
(i' 1/38 b. 1/2
logx)?
J‘( 9x) dx —
x
e, 1
A. 1/6 B. 1/3
1 1
Cl. /3e D. /2
2x d
fx2+3 =
0
59. A | 3 B. | 2
og4 og3
C. 4 D. 3
10g§ logE
1
2x d
fx2+3 =
0
ue. Al 1 3 B. 1 2
og4 og3
C. 4 D. 3
10g§ logE
/4
fcosxdx=
60. o
A. "/4 B. /2
C. 1 D. 1
/4 / /7
/4
fcosxdx:
50. o
A /4 B. /2
1 1
C /4 D. /\/5
di tial equati dzy-F(dy)g——o der is =
6. for dif ferential equation 22 = = order is =
A0 B. 2
C. 1 D. 3
d?y  rdyy’?
@sc adlsel [—= + [—=) =0 M2 sall =
59 dx?  \dx
A 0 B. 2
C. 1 D. 3

dx3 dx
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5.

63.

§3.

5Y.

65.

SU.

66.

55.

67.

59.

A1 B. 3
C. 4 D. 5§
dy\° sy \
[Asct wllswe (- (—) 5 =0 Ml uRHe =
S i) T\ax) Tt S
A1 B. 3
C. 4 D. 5
for x* — y? = 5 dif ferential equation is =
A. Yy =% B. y—y1=1x%
C. y+y1 =X D. /y) =x
x2 —y2 =5 HR2 [Ascd adls:el =
A. YY1 =X B. Y=y =X
C. Yty =x p D. /v =x
Solution of dif ferential equation d—i} = % 5 =
A y+x=c B. y—x=¢
C. y = XC D. VX =cC
2 _Y Qsa udlls2elo Gicd =
dx x
A y+x=c B. y—x=¢
C. Y = xc D. yX =c¢
, , dy
For dif ferential equation Ix +Py=Q, LF=
A. o) Qdx B. o —0dx
C. ef —pPdx D. efPdx
dy 3
@sct uls2e —-TPy=QMe, IF=
A. edex B e.r_de
C. ej —Pdx D. edex
Solution of dif ferential equation ydx + xdy = 0,is =
A. y—Xx=¢C B. ytx=c
C. VX =C D. Y = XC
ydx + xdy = 0 (s w520 ol Gt =
Al y—x=c B. ytx=c
C. VX = D. y = XxC

di tial equation |2 (dy)z 45=0d s =
for dif ferential equation X3 o) ¥ = egree is =

A. 1 B. 1
3 4

C. 1 D. 1
2 45

sld3y  rdyy”
Qs wlsel [—= + (—) —45 =0 HER UL =
dx3  \dx

A. 1 B. 1
3 4

C. 1 D. 1
2 45
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For di viat equation (22 4 (“2) 4D 3 orderis -
6. or dif ferential equation Tt + TxZ + e order is =
A 4 B. 11
cC. 12 D. 2
dt\1 22N\ g
[Asct wls2a (—z) + (—32’) +22_zu s =
SC. dx dx dx
A, 4 B. 11
cC. 12 D. 2
d
Solution of dif ferential equation % =l+x+y+xy,is=
69. A. 1+y)-1+x)=c B. (1+yv)=(A+yx)+c
C. 14+xy)-1+x)=c¢ D. 1+y)=(010O+x)
d
—i’: 1+x+y+xy @Qsd ulsel 63 =
Sc.
A. 1+yv)-1+x)=c B. (1+yv)=QA+yx)+c
C. 14+xy)-1+x)=c¢ D. 1+y)=(010O+x)
Differential equationof v = ax +a’is =
A. dy\* dy B. dy\* dy
- - _ = =2
70. (dx) +de -y (dx) +de -y
C. (dy)z dy D. (dy)3 4 ay
dx —de—y dx dx_y
y = ax + a? o [@Asct w{ls2a =
A. dy\* _dy B. dy\* _dy
- — 2
(@) -7 (@) -
C. (dy)z dy D. (dy)3 dy
dx de =7 dx dx Y

sk ok s kR R R kR R ok R
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